K°RSEN

Low Speed High Torque Orbital Hydraulic Motors
(R K ARG S ik

BM3 Series
Technical
Information

BM3 &% 5iA

Jining Kersen Hydraulics CO., Ltd el so) 537 263513812613777 Fax: (86) 537 2613277

i%%%il';ﬁ ﬁiﬁgﬁﬁai\\ﬁj Tel: (86) 537 2635138/2613777 Fax: (86) 537 2613277

2014-10



K BSE" BM3 Spool Motors

BM 3%l e it v . By ks
BM3 Series

BM3 %7

Shaft Retainer front Housing Ball bearing Drive  Spacer Plate Geroter End Cap
it

‘ g - A
‘ :
INEEE | ‘ o
e S T :
QQW STIEEY % !

NESD: 174
. 5 0 7

L U a7y 0o

+ Design Features

S R A1

sGeroler design,inculding ring,star,needle
B AE e R

sUse high pressure capacity shaft seal

o SR FH i g s Al 2

«Direction of shaft rotation and speed can be
controlled easily and smoothly

o T R V- A ) I PR B T 1) I ik
*Big diameter dimension Geroler than SMR
B R TR AR R HUSMR K

+Able to work under high pressure
HEAK S S A s

*Extended motor life

R KAEH AR A i

*Extended leak-free performance

B R A Y A

BRI, BRI AN AT
FEAUA-

2014-10



K ® BSE“ BM3 Spool Motors

« Specification Data BM3HIEL i ik

Continuous

Max.Speed ‘

iR "lt;err‘m '“‘)am 500 420 315 250 225 200 140
[~

it

|

Torque N.m continuous 175 539 271 328 384 480 500
s>
56 'T:r"m 'tt‘)em 197 340 379 355 410 509 628
N

Maximum Case Pressure -- Without Case Drain (RR#EspiitsiO R, SEEXEKZTEH) ---90 Bar

Max. pressure is the allowed pressure at the inlet port. Rated pressure is the < A48 [ ) JE 45 DakdEwl 0 oA ik ), 4Lk

working pressure difference between inlet and outlet port. JrFe I RS AR =

A simultaneous maximum RPM and maximum pressure NOT recommended 2 15 R £ 5 7] i 76 f52 K63 il B ke i ) 1 T A
Maximum pressure or maximum RPM operation: 10% of every minute AELHEAT T - 5 LIS T F R 5mE T A
Recommended fluids; Anti-wear type of hydraulic oil. Viscosity recommended 1£10%

37-73 cSt. Recommended filtration 1ISO18/13. Maximum operating HEEE M K H37-73cSt I IR . 1SO18/13,%
temperature recommended 80°C G gl B AN E 80°C

Special high pressure capacity shaft seal ensures back pressure up to 10 o B AT AR SE | OMpalfI 15 K, HEZE T3k 15 EAS B ek
Mpa. Recommended preferable back pressure 5 Mpa. Case drain line is SMpa, Mt SMpaltf, EEANINHE . ik SEAT TR
recommended when back pressure higher than 5 Mpa. When case drain ine 5z 47 ek, s {23 Jes v Py B 28 78 P, DA 1 3 75 3]
is used, make sure the motor is always filled with oil. The motor life is BLT [T R

benefited from a case drain line. B R L T 06 S AT 1 46 LL30% A2 472401
e 7N -3 W Ui is 2L30% 1) S i 184 T4
Itis highly recommended that the motor runs at 30% of rated pressure forat | Lj Y Eﬂ;é%ﬂ}ﬁ?’;ﬂ?gé et

least one hour before application of full load. Be sure the motor is filled with
fluid prior to any load applications.

*BM3 Series Dimensions Standard Motor A Series
BM3 R 114 R s
- 7 62.5 16 2M22KL. 5 FrifE Hik AR T
Case Drain Port M14X1.5 Or None ‘
— PORT:A Je ki FIML4X 1. 584
JHTTA

o7

=
=

0100°883°
@

2110
120

Iy

16.5

H

120

Standard Rotation: Viewed From Shaft End, Port A Pressurized --- CW, Port B Pressurized --- CCW
I IEARAEE L s T A AR, A SR ORI, RETE e, B Ok, R eRE
3]

2013-01



BM3 Spool Motors

Standard Motor B Series

Case Drain Port M14X15 Or None

M4 XS B

PRt A B R
4 72 46
2-Meex1.s
PORT:A PORT:B
A i H B E
i fa==Y [N @ ——
o0
@ 5
114
H
Standard Rotation:

?110

Viewed From Shaft End, Port A Pressurized --- CW, Port B Pressurized --- CCW

Ly IR BRI 7 1) TR i e il o,

Standard Motor C Series

brfE S IEC RS

#10046:6°

A e, R e,

BM3 i s s ik

120

Byl U, W B bR

11 UU_UU_‘_UU_ULljJ
@110
120
90

102
F 6
& N
| A / \5/
™ —
| /B | =
4R 21 -
0 \
6[1 4-R14JE (Deep) 2.7 4-M12-6Hix (Deep) 20
89 25
H
K
Viewed From Shaft End,

Standard Rotation:

Port A Pressurized --- CW, Port B Pressurized --- CCW

IR AR 75 TR b,
AT EER, BT,

Bith il W ek

M18x1.5-6H

18

A Series | ARYI 191 198 203 209 219 229 245
B Series | B&%| [H mm 201 208 213 219 229 239 255
C Series | CE&%| 180 187 192 198 208 218 234

2013-01



BM3 Spool Motors

N N
Dimensions ---Shafts A Series BM3HACHHIE ik
AR Ey i il RS

NO. | Splined Shaft | C NO. D h

AL [6D-30x25.3%8 [ W4 |1117-01 M| 25 28 1117-03 A6 1117-07
A2 | 6D-30X25.3X6 | M8 |1117-02 A5 30 33 1117-05

A3 | 6D-30X25.3X6 | W14 | 1117-09

o 0.05
6-S-0.15

-0.021
0.041

30-

0
8-0.036

31
A
Ji

80001
UI]N
8
i
)
8-0.036
0
i

22800

" ]
8 %

Dimensions ---Shafts B Series

B & 41 Hy ik il R
Bl 1117-04 B2 1117-06

28 E
o
@
8% aF
L | s e 11
"9 I ——
h=) =)
5
21
36.6 36.6
44
44

Dimensions ---Shafts C Series

CHRHU At cl st

—011

226030

ru?
et
79 35
o
= 46
IS8 L
54.5

2014-10



BM3 Spool Motors

Shaft Side Load Capacity BM3 Series
BM3 2 41 Hy it A0 i) 284 E

Kg

21 -10 O 10 20 28

BM3HHEC I By ik

Order Information

Straight25 Flat8(A4) 171m1113 1112 1114 1115 1116 1117 1119
Straighte30 Flat8(A5) 2-M22X1. 5 171m1123 1124 1125 1126 1127 1129
No Case
6D-30X26X8 (A1) Drain 171m1133 1132 1134 1135 1136 1137 1139
6D-30X26X6 (A2) 171m1143 1144 1145 1146 1147 1149
4 Bolt Flange
4-¢13 Hole
PiTot 0100 Straighte25 Flat8(A) 171m1153 1152 1154 1155 1156 1157 1159
(A Series)
Straighte30 Flat8 (A5) 2_M22X1'5 171m1163 1164 1165 1166 1167 1169
Case Drain
M14X1. 5
6D-30X26X8 (A1) 171m1173 1172 1174 1175 1176 1177 1179
6D-30X26X6 (A2) 171m1183 1184 1185 1186 1187 1189
Higt Port
6D-30X26X6 (A1) 2MZXL5 7003 1204 1205 1206 1207 1209
No Case
Drain
Manifold
4 Bolt Flange Mount
4-¢13 Hole . 4-M12
Pilot ¢100 6D-30X26X6 (C1) Side Port 175m1143 1144 1145 1146 1147 1149
(C Series) M18X1.5
6D-25X22X6 (B1
4-¢11 Long B . 171m1193 1194 1195 1196 1197 1199
2-M22X1. 5
Flange ¢85 (B
Series) No C?SQ
i Drain
Straight25 Flat8(B2) 171m1213 1212 1214 1215 1216 1217 1219

2014-10



BM3 Spool Motors

UHER

BM3HHEC I By ik

‘;’255%%2@8(“ 171m1113 1112 1114 1115 1116 1117 1119
@30 il P48 (A5) 2-M22X1. 5. K i 171m1123 1124 1125 1126 1127 1129
Pt
6D—-30X26X8 (A1) 171m1133 1132 1134 1135 1136 1137 1139
. . 6D-30X26X6 (A2) 171m1143 1144 1145 1146 1147 1149
PU75752%, 4-¢1 31l
LIEPE, @12750 11
{ooﬁj(P(Aiﬁ Tip 2T (1) 171m1153 11652 1154 1155 1156 1157 1159
@30 E il P48 (A5) 2-M22X1. 5E i 171m1163 1164 1165 1166 1167 1169
M14X1. 54hiliE
6D—-30X26X8 (A1) 171m1173 1172 1174 1175 1176 1177 1179
6D-30X26X6 (A2) 171m1183 1184 1185 1186 1187 1189
2-M22X1. 57yt 1 i
6D-30X26X6 (A1) R R4S 171m1203 1204 1205 1206 1207 1209
Py it
PYT7952%, 4-o 13 4-M124 i 111
LR, 9127450 4@ | 6D-30X26X6 (C1) P h IM18X1. 5 175m1143 1144 1145 1146 1147 1149
10011171 (CHY)
4L T 2 4011 6D-25X22X6 (B1) 171m1193 1194 1195 1196 1197 1199
Ko 71244~ \ m
[T o8 By 2-M22X1. 5Ll i
‘ Py it
25 F il F8 (B2) 171m1213 1212 1214 1215 1216 1217 1219

Model Code for BM3 Series Motors
BM3 A% &k &Y 5 4mtd

Position 1,2,3 ---BM3 Series Motor
W1, 2, 3NHCT, RANBM3RY ik
----Displacement, cc/r

Position 4,5

5, ofi Ky, FonhikHEE

01 - 100
02 - 125
03 - 160
04 - 200
05 - 245
06 - 305
07 - 395

2014-10



K BSE" BM3 Spool Motors

BM3 i et i s ik
Position 6 ----Motor Type
0 AN, Ron Ik
A ---- 4-Bolt Flange, pilot ®100, High7; Port: 2-M22X1.5
44057822, 11 11 @ 10075 7; 3 112-M22X1.5
B ---- 4-Bolt Flange, pilot @85, High4; Port: 2-M22X1.5
ALK VR4, 1R 1 8574 3 [12-M22X1.5
C ----4-Bolt Flange, pilot @100, High6; Port: 4 - MI12Manifold Mount
440525, 11 1 @ 10056;4-M 1285 4%
Position 7,8  ---- Output Shaft
7, ALY, R R

Al ---- Square SplineffiJE {£56D-30X25.3X8, M14.

A2 ---- Square Spline’f JE 4t #6D-30X25.3X6, M8.

A3 ---- Square Spline JEAEFE6D-30X25.3X6, M14.

A4 ---- ®25Cylindrical shaft, parallelkey8X28; @25 5l *I5#8X28, MS.
A5 ---- ®28Cylindrical shaft, parallelkey8X28; @28 F %l *I-5#8X28, MS.
A6 ---- ®28Cylindrical shaft, parallelkey8X32; ® 28 H #ll*F#8X32, MS.
Bl ---- Square Splineff JE{£f6D-25X21.5X6,M8.

B2 ---- ®25Cylindrical shaft, parallelkey8X28; ® 25 #il*F#8X28, MS.
C1 ---- Square Spline 1 JE{L#E6D-30X26X6, MS.

Position 9 ---- Case drain Port , SEOf7 7, Fonillty I )

A —None Joitt

B - M14X1.5 M14X1.5 i

C — Others, Please Note on PO JLEEsK, 15 1 HH v I
Position 10 ---- Paint, =510{7%07, FT/RWHETR

0 - No Paint L% S
1 - Blue WA 5 VA
2 - Black AR E R AL SRV

3 — Others, Please Note on PO & 85K, 1 I FRIyE A
Position 11 ----Specical Feature, 551107 #17", F£n—LoRpik iR

0 —None UREZ/ S

1 —Others, Please Note on PO H &85k, i NI
Position 12 ----Motor Rotation 21267507, R/~ ikles 77 )

Viewed From Shaft End T 6 A S 2 Al
A —Port A Pressurized CW AN EVHETE Sy, g i
B — Port A Pressurized CCW A THEE Sy, W0 e s

2014-10



